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Napadewypa 1
p; = .06, .06, .06, .06, .06, .15, .13, .14, .15, .13
= 1/10
¢ = m&x(q ) = 10(.15) = 1.5.
j

=[666661513141513]/100; N =10000;
fori=1:N, k=0;
while 1, k=k + 1;
j=1+ floor(10*rand); % amo opolopopdn j
if rand < p(j)/.15 % amodoxn p(j) av U<p(j)/c
X(i) = j; C(i) = k; break
end

end
end



MNapadeypo 2
p; = e 53/, 1 >0
0498 .149 (224 224 |.168 .101 .0504 .0216 .0081 .0027

!

g = p(l —p)

‘ltp)::.25

2500 .188 .141 .105 .0791 .0593 .0445 .0334 .0250 .0188

c~92192 1 p@'/%’ PuBuoc amodoync:1/2
199 797 1.59 2.12 2.12(1.70 1.13 .647 .324 .144




Noapadeypa 2
N = 10000;
c=2.124; p0 =exp(-3); p=.25; q=1-p;
fori=1:N, k=0;
while 1
j = floor(log(rand)/log(q)); k =k + 1;
if rand < p0*3Aj/(c*factorial(j)*p*q”j)
X(i) = j; C(i) = k; break
end

end




MNapadeypa 3

flz) xz?e ™, 0<x <1,

flx) < e A 9(z) = exp(—z)

function [x,n||]=rejsim(n)
m=0;
for i=1:n n= 100 smavaAnyeLc - data
acc=0;

while(~acc)

m=m+1;

z1=-log(rand);
z2=rand*exp(-z1);

if (z2<z1"2*exp(-z1)*(z1<1))
acc=1;

x(i)=21; m= aplOpog twv z1 ko z2 S

end TIOU XpELaleTal yLa va i

end dextoupe tic 100 TIHEC Ao . I I
end . -

NV Kortavopun — m=700




